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#include <stdio.h>
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int main(void)
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#include <stdio.h>

void test(void); // FRMIATEE
int hoge - | 78~ VLEH

//
/] *AA U

//
int main(void){
int i; -—-— A
int fuga=222; </ | O—MNEH |
printf("fuga at main = %d\n", fuga);
rintf ("hoge at main = %d\n", hoge);
p g g = &
test(); S & @
for(i=1; i<3; i++){ /’| /Ay REROE &R 2
int bar=444; 4 L Mg RS
printf("bar at for loop = %d\n", bar); /E S é[ S
y 8 2
} g —_
™
return 0;;
}
Y
// -
// test A—Y—F&HEBEH
// -ﬁé =]
void test(void){ hj R
int £00-333; = | PAMEH | RiE
4 | S
printf("foo at test = %d\n", foo); o 9
= %d\n", hoge); £

printf("foo at test
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#include <stdio.h>

int hoge(int a, int b);
void fuga(int b);

int a=2, i, j=3;
extern int k;

int main(void)

{
int a=6, m;

for (m=1; m<=3; m++){
int j=4;
at++;
printf(”\n
i=hoge (a,
fuga (i);
printf(”

i)s
at main a=%d\ti=%d\n”, a,i);

//===s==ss==s=== Q0000000 =ss=ss==ss==ss=========
int hoge(int a, int b)

static int k=10;
int 1=20;

printf(”at hoge a=%d\tb=%d\n”, a, b);
printf(”at hoge k=%d\ t1=%d\n”, k, 1);

k++;
14+

return a+b;
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#include <stdio.h>
void fuga(int b);
static int i=30;
int d=1;

void fuga(int b)

{
i++;




d+=i 5
printf(”at fuga i=/d\td=%d\n”, i,b);
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